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AP® Psychology 2024 Scoring Guidelines

Question 1: Concept Application 7 points

General Considerations

1.

Answers must be cogent enough for the meaning to come through. Spelling and grammatical mistakes
do not reduce a score, but spelling must be close enough so that the reader is convinced of the word.

A response can earn points only if the student clearly conveys what part of the question is being
answered. It is possible to infer the part of the question being answered if it is consistent with the order
of the question.

The response must apply the concept to the prompt. A definition alone will not earn the point, but a
clear definition can support the application.

Examples provided in the Scoring Guidelines for each of the points are not to be considered exhaustive.

Within a point, a response will not be penalized for incorrect information unless it directly contradicts
correct information that would have otherwise earned a point. For example, if a response applies a
concept in two contradictory ways (such as identifying both the independent and dependent variables
as the independent variable or describing proactive interference as interference from both older and
newer information), the point is not earned.

NOTE: In certain cases, a response will not score if it includes a correct answer amongst multiple
incorrect answers related to the same general concept/theory (e.g., a response that describes the Big
Five trait of conscientiousness as being diligent, trusting, highly emotional, outgoing, and intellectually
curious).

Within a bulleted question part, if the response addresses details from a scenario other than the one in
the prompt, the point is not earned.

Part A Gavin’s parents took him to his favorite science museum, and he explored all of the

exhibits. One of the interactive exhibits featured glass marbles. He grabbed a large marble
and tried to bounce it on the ground. At one point during the visit, he became separated
from his parents, and it took a few minutes for them to find him. Later that night, he drew a
colorful picture of the exhibits at the museum. The next day, Gavin brought his picture with
him to preschool. While his grandmother drove, Gavin talked to her about the picture.

Explain how Jean Piaget’s concept of assimilation could relate to Gavin’s experience with 1 point
the glass marble.

Response must indicate that Gavin attempts to treat the glass marbles like “balls” by
trying to bounce them on the ground.

Acceptable explanations include:

e Gavin thought the marble would bounce like all other balls.

Unacceptable explanations include:

Responses that refer to schema accommodation.

e Gavin now has a schema for “glass marbles” and knows they don’t bounce like “balls.”
e Gavin thought the marbles were like bouncy balls, so he tried to bounce them. Then he

changed his schema when he learned that glass marbles are different and cannot be
bounced.
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Explain how egocentrism could relate to how Gavin interacted with his grandmother in 1 point
the car.
Response must indicate that Gavin only considers his own perspective or assumes that
others know what he knows when interacting with his grandmother.
Acceptable explanations include:
e Gavin holds up the picture in a way where he is the only one who can see it, but he
thinks his grandmother can see it.
e Gavin talks about the museum trip from his perspective and doesn’t recognize his
grandmother is busy driving.
Unacceptable explanations include:
The response refers to Gavin being selfish.
e Gavin does not care what his grandma thinks because all he cares about is the picture
he drew.
The response refers to Gavin telling his grandmother about the experience without
referencing a lack of perspective.
e Gavin tells his grandmother all about the trip to the museum.
Explain how avoidant attachment could relate to Gavin when he was separated from his 1 point
parents.
Response must indicate a lack of distress when separated from his parents.
Acceptable explanations include:
e Gavin didn’t get upset or cry when he was separated from his parents.
e  When separated from his parents, Gavin spent the time playing by himself at different
exhibits.
Unacceptable explanations include:
e Gavin was very fearful and anxious when his parents left him.
Part B Explain how each of the following terms could relate to Gavin in this scenario.
Serial position effect 1 point

Response must indicate that Gavin recalls information from the beginning or ending of his
experience better than information that is in the middle of his experience at the museum.

Acceptable explanations include:

e Gavin remembered the exhibits he visited at the beginning of the day better.

e Gavin remembered the exhibits he visited at the end of the day better.

e Gavin had trouble remembering which exhibits he visited in the middle of the day.

e Gavin remembered the exhibits he visited at the beginning and end of the day better
than the ones in the middle of the day.

Unacceptable explanations include:
Responses that refer to primacy or recency effects without reference to better recall.

e Gavin remembered the exhibits he visited at the beginning of the day.
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Motor cortex 1 point
Response must indicate that Gavin’s motor cortex controls his movements.

Acceptable explanations include:

e Gavin uses more of his motor cortex to use his fingers to draw the picture.

e Gavin uses his motor cortex to grab the marble.

Unacceptable explanations include:

e Gavin moves a lot when he plays.

Cognitive map 1 point
Response must indicate that Gavin formed a mental

picture/layout/orientation/representation of the museum or another location related to

the scenario.

Acceptable explanations include:
e Gavin remembered where the entrance was to the museum because of his mental map.

e Gavin has created a mental picture of the museum to help him draw an accurate picture
of the layout.

Unacceptable explanations include:

e Gavin creates a cognitive map that helps him navigate around the museum.

Cones in the retina 1 point

Response must indicate that Gavin’s cones allow him to see color and/or detail (e.g., acuity,
clarity, sharpness of vision).

Acceptable explanations include:

e Gavin is able to create his picture because the cones in his retina enable him to see color
and detail.

Unacceptable explanations include:
e Gavin uses his cones to see well.

e Gavin can see movement out of the corner of his eye.

Total for question1 7 points

© 2024 College Board



Q1 Sample A 1 of 2

Important: Completely fill in the circle " Question! Question2
that corresponds to the question you

are answering on this page. ® O

Begin your response to each question at the top of a new page. Do not skip lines.
Aspimilaion 15 whan  ons YPls o nand InGeoaedien
PP N ‘nmmr?mo-\-'-s W e A ui«.-ﬁwb s . Gavin
s e vound wmotle aundh ey perat - W W
WNBBM & o el \G&Ml—'“&-l-nf oL bela
vound, T[*M,l'\&-lv'nu‘ o bovunor Hal pudore anel (L

devsn' ¥ beunon.

w 1 poaan DB Cual ' wareb\e \e para L.
-’("‘-""‘)‘7 e cwnchMaay F.u-‘.asw's \a.-_v-s.e-u.-\r«%m“"‘b
w_._..\r..l o Wiy Brerdimethan obou) s P,

G oo Mﬁb\.\' o-&‘-\. whakr  Was ij-uwxww&-k“_( e odooud
Mo proden Wit et ik o bav. fe lakiwons
Aot Pno e o gen L giduce, g aoad an
o\ Fo.

s e s A
Avsidomk Miwdvmenk 15 colaan o AN Mdaagi s
= S roqm\—s \WL M P - el ey e
Whan oy vdur ., 6 T Govin an') Ugpeade Huad
e oo o.n.e-«q.\-ut Keown Wig Pornk— Tu How
[/ QTS E N A7, Vo ‘M_ weu el l’\c.ut_ AU MBEM
o\.-\"\—-m.—lr\vnwvl-.

i’gﬁﬂ-& Pomtien BNt o whain o cumnuudoar s
J‘l‘\-& Qi(b‘r ihg'ﬂ‘rm.*'“bu ‘uu.n/ lﬂa—uﬂk GD'LK.\' o %M
anA M o) WlacaHsn SorHy oSy Waars
W Gaviv vnoadda e Ay Ldfo r‘"—l-wr-u of M axWlol

Page

Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.

o0 00 o o @ @ L asiosoe @




Q1 Sample A 2 of 2

Important: Completely fill in the circle Question1  Question 2
that corresponds to the question you |
are answering on this page. ® O

Begin your response to each question at the top of a new page. Do not skip lines.

ot Hax vvgaunn . & S i vaoe savueal)l  UWouws oflac
“H‘“— M‘-"WUK’ ch.:in u:b!-'-\nl € LiinDe Hoa Q-Tt'-\—
axaldlz, o sowo oo déit baler Hasen Ha conk .

Tha videy codax (5 wrsmparaide Cor s
Goown is od\e e color o PLRL and arels Mo
WMorble Lususs 2 Wis misder corlan  allous,  Liua
Lo waoun.

A Lbawu-"\u'- Waop is o W\ r\-f:fu.,l-m\—-\-‘\nn of
oMat S Bt aaRivemmewh. S Ha wassoanw s
W Cowin'e Loverida VAL s VR VPR YN
Paave  90owal Hveesy ol o, Hulere Gt
o Ve Waspo £ o s, '\T/\-u-s‘ PV
pore— Sroun Wi pd\ri.ug;\-g' e 1S M&«\Y alaln
J'O ‘M--Ln. b\i*‘ u-bca.n..,a Mawmw +o
Gl e,

"ﬂf-"- Conasy, W % rk}im oMoy ol ]a.wq}.c_-,m o
% color Ganin s odole beo aa o\l Man difCacunt

Page 3

Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.

@ asos0 o0 o O® ® & 00 o0




Q1 Sample B 1 of 2

Important: Completely fill in the circle Question1 Question 2
that corresponds to the question you
are answering on this page. @ O

Begin your response to each question at the top of a new page. Do not skip lines.

o) ASHMUAGRON 1S WNEN Previons ¥owicOg e, Eretes
A ER (S A\ tered OV 1o Ned SHmoli oein g iNNo-~
AYCER AN PALS coise, GONIN MOY NAVE of IGinculy
YONGNEA yound olajects Wounce, oor aftey Fnemaylore,
AANY PoONTE , \Ne WOS ANE FO ASSINMIIa R Fails Neaw
UNAVEAS FA NN Q) 0 MBIV IYES INTO WIS Knowledae -
0) EGRENAMNSM IS N kg o F YMuwneng rne
W0 V\OL yeVoLVES Qround (ou, oNA Al ofney s

\OTE ORXSONOR RAPTNRINCLS \ & ey Ao nOT
WO Y0u - Gowwy WAS SHOWWN By 90N ReiSm
0eLATL g co mPrIRVY) IS vTgavale o wnay

WaS NGPP NN § N IS oS W onad
cONNNY 0C\Y ratved fo W 0bouy himGRIE

WS MAQ to e soones MvSivim .

O Avotdant arrarcdnmen \- stye (S an at-hatwent
Cyle wnexre achifd dloes Not el saldwhen

% pavents (eaye theroom,and do no

ne essayly over OV L N BN L 1otk eaNer.
WNEN JaVIn WAS SEPAVRILA (Hom Wi g e,

e \irly ool ok A NY dishres§, anel Lo g

nkknkon hisown .

A)Sexiod posinon effeck 15 yomemioering e ovoley
0 £ SOMIHNING NN IS DAAce A IN QL SeMes - n Ps
COSR,, ¢ OO WY O] Nawe YoM W Dere0L HAL
loCaon vf ecton exhiblk hetev necavse o
Ne MO NAVE Sean On m/‘g;)awtd merp o

» #
Foy -/”)'-‘ o

Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.

0 00 o o o o ® assoscz @




@ important: Completely fill in the circle Question1 Question 2

that corresponds to the question you P o
are answering on this page.

Begin your response to each question at the top of a new page. Do not skip lines.

Lsked al\ o & HNan v ovdex .

€) MooV LOXYER §S Wt PAY-6F Your \oranivy Hnof
CoONYo) § MOVEMRNT. GOVING moTov COY X (S
VNG Y oo M 1o Wi e mowdle ond 1y

0 pounce v 1Fs also whwa ¥ altowed Ny 1O
CfAPlorR UL SUEVR A,

FYCogrihve map1's a mented vnderstanoling
vFalocalnon ave o a vepeated exposSure
o+ thaty O\’ \n I coer se , Govin nad

rmed a cogniRve map of +¥he sdere
NUSRLUM  WNEN 1 WNOF Alloped him YO
AYAW P COLoY U OITUTR OF PNR exniVol ks
WA N o r-\noymne .

\ COoNRS '\ vYne vehno oy wnatk Oy g
RSEONINIRFOY ANOWING Yoy 1o see cotev,

N IS Cose , e cones N haviNs renno
allowed M FO choose PNe oloyrsS Ne uointed
YO USSR 1\ nts Bvawinwg 0 & Ane CXwo-e
QAN P VN D 5 YWN\OS L& cojovs.

Page 3
Ualptnwlthbllckordnrl_tbluolnknnly.DoNOTwﬂhwurnm.DoNOdei,ouhldquqbox.

@ oswens L L o o o & 00 o0




Q1 Sample C 1 of 2

Important: Completely fill in the circle Question1  Question 2
that corresponds to the question you
are answering on this page. ® O

Begin your response to each question at the top of a new page. Do not skip lines.
Jeon ?'\ogc'rs coNCepy of @ssimlahdn could relave Yo
Javins  Expeniene W ¥ne glass wocoles. TS 1S becowse
S0Ce Gowin fred Yo Dowrke fae g\ass Mmoo, ne  covld
ave goﬂen a ca\ass ook mixed VP WiWn Q DOUNCY o\,
TS Would D& LsNg  OsSinlahon  Sie ook morbles ond
bouney  alls oe  oth  yOund,
w coNd celate YO NOW Gonin  interacked Wik
s grondma. This 13 Decase Gonin coud vave sk been
h\hmq obowr  nwmselt  ¥ne wnole  +ime | mpresemsm) Egeentcism.
Avoidont aftacnment couid relate to Gonin wnen ne wos
seperated from his pocents, TS IS Decavse Gavin wWos 30
nferested I ol He Coo) exihibits , Ne did not even
feolze WIS pores weve rivsing demonstrahng _Avcidont
Atadoment
Serial position effeck coud relare 40 QgoNiv In Iy Scenocio,
TS is becaose ¥e Senal _gosden  eflet IS WL poioy
ar ne  vememoes e G, ARuning hat wos Wit Hag
Mobles , Har s Whak he  @AdVE  Jrawy on WA P
Motor Cortex cowld relak 4O gavin 0 NS Sceoro. TS
is ome Govin's motr corkx IS working ond wn Use Wi
qrubhm] o lorqe  Morbu ok ngnd ind ryng Yo
Houne iy,

Page 2

Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.

o 00 o o e o ® asosoz @




Q1 Sample C 2 of 2

@ important: Completely fill in the circle Question1  Question 2

that corresponds to the question you
are answering on this page. ® O

Begin your response to each question at the top of a new page. Do not skip lines.
Cogorive Map could ¢elate o s Scenono, TS IS paxvse
as Gavin is Warng wa HDUgn s toseum ond explonng

AL ¥ne etnots, he is Creon(lg A ooMNE Migp of Yre osum,
TOReefre | ¢ Govin  goes Yo VisWw IS 1useum  again , e
will aleady Nove o ©gnive  (Nap Mmade , ond W oW s

Way oond W enoseum.

TNE CoNes of e prehna  ¢ould velak 1o ¥nis  XeNorio, T
1S becave  wwile e s d'rnw‘mcj e pictuee of Yo exnivib
fom  Hre moseum, ) NS are Skeng W Avifceny co\oes e
(3 Oamq, moting pictue Dokl TS 35 Since  +he Bnes

of P ydhna Se oor.

Page 3
Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.

@ s L 1 J o o o & 00 o0




AP® Psychology 2024 Scoring Commentary

Question 1
Note: Student samples are quoted verbatim and may contain spelling and grammatical errors.
Overview

Responses to this question were expected to demonstrate how specific psychological concepts applied
to the scenario, which described the experience a young child had going to a science museum. The
responses needed to demonstrate an understanding of Piaget’s concept of assimilation, egocentrism,
avoidant attachment, serial position effect, motor cortex, cognitive map, and cones in the retina.

Sample: 1A
Score: 7

The assimilation point scores because it indicates that Gavin applied an existing schema of a ball to
the marble and tried to bounce it. The egocentrism point scores because it indicates that Gavin
assumes that his grandmother has an opinion of his picture that she has not seen. The avoidant
attachment point scores because it indicates that Gavin was not upset when separated from his
parents. The serial position effect point scores because it indicates Gavin was able to recall the first
events, for example, better than the rest. The motor cortex point scores because it indicates Gavin
used his motor cortex to color and grab. The cognitive map point scores because it indicates that
Gavin makes a mental representation of his environment, which he uses to find his parents. Tthe
cones in the retina point scores because it indicates that Gavin used cones to see color in his picture.

Sample: 1B
Score: 4

The assimilation point does not score because it refers to Gavin changing his existing knowledge
based on his experience with marbles, which is a description of accommodation and not assimilation.
The egocentrism point does not score because it does not describe Gavin'’s inability to take his
grandmother's perspective. This response describes egocentrism as more about being self-involved
instead of lacking the ability to take another’s perspective. The avoidant attachment point scores
because it indicates that Gavin did not experience distress when he was separated from his parents.
The serial position effect point does not score because it does not indicate that Gavin’s recall is better
for items at the beginning or end of his experience than for those in the middle of his experience. The
motor cortex point score because it refers to Gavin lifting the marble. The cognitive map point scores
because it references Gavin’s mental understanding of the museum. Gavin can reproduce the layout of
the museum’s exhibits based on his cognitive map. The cones in the retina point scores because it
refers to the role of cones in seeing color.
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Question 1 (continued)

Sample: 1C
Score: 3

The assimilation point scores because it refers to Gavin using the marble like a ball and trying to
bounce it. The egocentrism point does not score because it does not indicate that Gavin considers
only his own perspective when talking to his grandmother. This response describes egocentrism as
more about being self-involved instead of lacking the ability to take another’s perspective. The
avoidant attachment point does not score because it does not indicate that Gavin showed a lack of
distress when he was away from his parents. The serial position effect point does not score because
it does not indicate that Gavin remembered the beginning or end better than the middle of his
experience at the museum. The motor cortex point scores because it refers to the motor cortex being
involved in grabbing the marble. The cognitive map point does not score because it repeatedly
parrots the term “cognitive map” without showing a clear understanding of the concept. The cones in
the retina point scores because it refers to the cones allowing Gavin to see colors.
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